
[image: image1.png]


Further Maths Trial Exam 2 2005 Solutions  

( Copyright 2005 itute.com  

Free download & print from www.itute.com   

Do not reproduce by other means

Core

Q1

	Time
	Share price
	Moving average

	1
	5.00
	

	2
	4.50
	4.83

	3
	5.00
	5.33

	4
	6.50
	7.00

	5
	9.50
	7.33

	6
	6.00
	8.50

	7
	10.00
	10.00

	8
	14.00
	12.67

	9
	14.00
	13.00

	10
	11.00
	13.33

	11
	15.00
	15.67

	12
	21.00
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Q3
	Year  x
	1
	2
	3
	4
	5

	x2
	1
	4
	9
	16
	25

	Share price
	5.00
	4.50
	5.00
	6.50
	9.50


	6
	7
	8
	9
	10
	11
	12

	36
	49
	64
	81
	100
	121
	144

	6.00
	10.00
	14.00
	14.00
	11.00
	15.00
	21.00


Q4    

[image: image5.png]150 T

130 140

110 120

30 40 50 60 70 80 9 100

20

10

($) 9o1ad aueyg
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Q6    85.4% (
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) of the variation in the share price with time can be explained by the second model, in comparison with 82.1% (
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 gives a better fit for the data.

Q7    When 
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dollars; using the second model, 
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dollars. The second model gives a higher prediction.

Q8    Share price of a company depends on many factors, e.g. the management of the company, government policies, global situations, to name a few. Hence making prediction of share price base on statistics is highly inaccurate, especially for long term predictions. Referring to the given time series plot, the fluctuation in the share price could be quite large, e.g. from 
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 the price was more than double.

Geometry and trigonometry

Q1a
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True bearing = 270 + 31 = 301o 

Q1b                  CLL           90 – 31 =59

 205 – 180 = 25                                        

                                              50 km                        

                                                                  31

                                                                 WPL

                                                                

                                      x                        270 – 250 = 20

              A

                               180 – (25 + 59 + 31 + 20) = 45

The sine rule, 
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Q1c                                                  WPL

                                                                       250 – 180 = 70

                            70 km

                                                                24 km

        A

                                 y                            B

The cosine rule, 
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Q1d
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Q2a                                                             Original cone


                        Removed cone


                  A                                                                                h

                                                      a                                         



                                     1 unit                                  2.25 units

Area of curved surface of original cone = 2.25A
Area of curved surface of frustum = 2.25A – A = 1.25A m2
Q2b    
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Q3c     
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Graphs and relations

Q1a    From graph, fixed cost per quarter = $300 000

Q1b    Production cost per calculator = gradient = 
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Q1c    From graph, at the intersection, n = 50 000

Q1d    Equation R: R = 10n; equation C: C = 4n + 300 000

P = R – C, P = 10n – (4n + 300 000), P = 6n – 300 000

Q1e    When n = 90 000, P = 6(90 000) – 300 000 = $240 000

Q2a    
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Q2c    
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Q2e    Point P: 
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Point Q: 
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Solve by elimination, 
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Q2f    At P, profit 
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At Q, 
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At R, 
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At S, 
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(max profit when 
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Business related mathematics

Q1    Interest = Total paid – cost price

                     = 500 + 24 ( 210 – 4500 = $1040

Q2    
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Q3    Effective rate 
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Q4    At the end of third year, $9 304.95; at the end of fourth year, $10 770.49. 

Interest p.a. = 10 770.49 – 9 304.95 = $1465.54

Interest rate p.a. = 
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Q7b    
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monthly instalment = $ 1610.75
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(16.388 years or 16 years 5 months.
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